Physicsaholics

DPP — 1 (Theometry & Calorimetr

Video Solution on Website:- https://physicsaholics.com/home/courseDetails/54

Video Solution on YouTube:- https://youtu.be/ywVgjA2pUsc

Written Solution on Website:-  https://physicsaholics.com/note/notesDetalis/79

Q1.
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Q3.

Q4.
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The freezing point on a thermometer is marked as -20° and the boiling point as 130°.
A temperature of human body (34°C) on this thermometer will be read as:

(a) 31° (b) 51°

(c) 20° (d) none of these

In a temperature scale called Z , the boiling point of water.is 65Z and freezing point is
-14Z. Then the temperature T = - 98 Z corresponds on the Fahrenheit scale to

(@) - 191F (b) -159 F

©79F (d) none of these

If a thermometer reads freezing point’of wateras 20° C and boiling point-150°C .
How much thermometer reads when-the actual temperatare is 609'C?

(@) 98° C (b)110° C

(c)40° C (d) 60° C

A centigrade and-a Fahrenheit therometers are dipped in boiling water. The water
temperature-is Jowered until the Fahrenheit thermometer reads 140° C . The fall in
temperature registered by centigrade thermometer is

(a)80° C (b) 40°C

(c)50° C (d)90°C

100 gm-ofice at 0°C is mixed with 100 g of water at 100°C. What will be the final
temperature’ of\the mixture ?
(A) 10°C (B) 20°C (C) 30°C (D) 40°C

A lead bullet of 10g travelling at 300 m/s strikes against a block of wood and comes
to rest. Assuming 50% of heat is absorbed by the bullet, the increase in its
temperature is (specific heat of lead = 150 J/kg. K)

(a) 100°C (b) 125°C (c) 150°C (d) 200°C

Equal masses of three liquids A, B and C have temperatures 10°C, 25°C and 40°C
respectively. If A and B are mixed, the mixture has a temperature of 15°C. If Band C
are mixed, the mixture has a temperature of 30°C. If A and C are mixed, the mixture
will have a temperature of

(@) 16°C (b) 20°C (c) 25°C (d) 29°C
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Q8.

Qo.
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On increasing temperature of water from freezing point to boiling point its specific heat
(a) remains constant (b) first increases then decreases
(c) first decreases then increases (d) decreases throughout

Three different liquids with equal masses (m), specific heat as sa, ss and sc & initial
temperature as Ta, Te & Tc are kept closed in a isolated container, then -

(@) final temperature of mixture will be % (TaA+Te+ Tc)ifsa=ss =sc
(b) heat given by liquid A to liquid B & C will be =2 (2Ta—Te — Tc) if sa = se = sc

msc

(c) heat absorbed by liquid C will be PyT—— [Sa(Ta-Tc) + ss (Te — Tc)]
B
(d) heat absorbed by liquid A is =% (T + Tc — 2Ta) if sa=s8 = sc

Answer Key

Ol a )Q2°b |03 a |Q4 b |Q5 a

Q6 ¢ |Q7 a |Q8 ¢ |QSI

a,b,c,d

Use code

LIVE to get Maximum OFF on Unacademy PLUS / Iconic and learn from India’s Top Faculties


https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain

PLUS [[ele]lohd

India's Best Educators

Interactive Live Classes

Structured Courses & PDFs

Live Tests & Quizzes

24 months

18 months

12 months

6 months

a Add a referral code

¥2,333/mo
¥2,625/mo
¥3,208/mo

%4,667/mo

Use code PHYSICSLIVE to get 10% OFF on
Unacademy PLUS.

PLUS [[sle] N lohd

India's Best Educators
Interactive Live Classes
Structured Courses & PDFs

Live Tests & Quizzes

24 months ¥2,100/mo

+10% OFF

18 months ¥2,363/mo
+10% OFF ¥4

12 months ¥2,888/mo
% OFF 2:

¥4,200/mo
% OFF >, 2

i‘_ Awesome! PHYSICSLIVE code applied




Written Solution

DPP-1 Calorimetry & Thermometry
By Physicsaholics Team



Solution: 1

X=n; _ C—0_ Hay 2 @yagnﬂ
h, — W, o | o b oo X l:b()iv\a

: }O%l w X 2y

= X—(~20) _ % @
T O

) @ _.—g 0

=\ @X . %%)l

ANS : a






Solution: 3










Solution: 6 K.E. ,‘ bull4 = -LX 0] x(3

_. 45 @
Reat  ab g0 heo %
@&@

(C) ANS : c



Solution: 7
of A, C.
qfﬁuh y &&3 ave %® @%
% (15-10) @&-u@@
% 'Sifqz. =0 35 )
4@ C Qu Y 0o
3, 30%%x|-h433(30—40)-

= @@—-IOX-&‘:O = By= 233"(11)




chun A L C ave mixed  fiad domp. ig T

mh (T=10) +mA, ( @
3. (T l%ﬁ@@%$@©%
@ ar
ﬁ@ Q‘;T ;;1; T=1€¢

(A)



Solution:




Solution: 9




ANS : c



Hea
A&: a:),;el LD
Rl
| =5
@@“

A
@@@@% b

()
1%
(oY ¥2c)



For Video Solution of this DPP, Click on below link

Video Solution
on Website:-

Video Solution
on YouTube:-

Written Solution
on Website:-

https://physicsaholics.com/home/courseDetails/54

https://youtu.be/ywVgjA2pU4c

https://physicsaholics.com/note/notesDetalis/79


https://physicsaholics.com/home/courseDetails/54
https://physicsaholics.com/note/notesDetalis/79
https://youtu.be/ywVgjA2pU4c

#3) suBscRIBE

Q@ ©

@NEET-Physics
@Physicsaholics ~ @Physicsaholics_prateek @ TJEE-Physics physicsaholics.com Unacademy

;@) @ @ 7 7
CLICK



https://www.youtube.com/channel/UCRwRoH5KjBrkkSIhS_UoJlw
https://www.instagram.com/p/B_Yl0gnBfsz/?igshid=krndq8sjbj5p
https://t.me/NEET_PHYSICS
https://t.me/IITJEE_PHYSICS
https://www.physicsaholics.com/
https://unacademy.com/@physicsbyprateekjain




